Math 099 - Summer 2014 - Test 1

Instructor; Dr. Francesco Strazzullo Name

Instructions. Only calculators are allowed on this examination. Point values of each problem are indicated.

Always use the appropriate wording and units of measure in-your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Translate each phrase into an algebraic expressions.

(a) (Bpts) A fifth of the difference between four and a number.
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{¢) (5pts) The opposite of sixteen.
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2. Combine like terms in the following expressions:
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3. (17pts) Solve the equation  6{245z) +4 = 2+ 27z. Cact
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4. The formula for the area of a trapezoid is in the picture helow.

(a) (9pts) Solve the F'BHOW*”:% -FOV‘mmd FQY c.
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{(b) (9pts) A trapezoid has area 105 square feet (ft*), hight 10 ft, and one of the parallel sides of 8.5
ft. Compute the length of the other parallel side.
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5. (17pts) Give the interval which is the solution set for the inequality 3v — 2 < 9z + 4.
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6. (18pts) Computers are on sale at 30% discount. If you know that you will pay 6.5% in sales taxes,
what will you pay for & computer that is priced at $6807
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